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ls e Ja2

EL_ ------ oo S e P 2 (S b 93 Ul ol (S e OO 1 Jle
e L ok 0313 OLis s & 53 dIs b ar LSS &y 50 448 30 cm
ﬂ‘jﬁu\})’)l{j 15 KN/m2 ﬁ‘xd‘)b})ﬁé}ﬁﬁﬁ)ﬁ)l{.\;ﬂ‘

S bl e S Js. el 4.8 KN .m?

F. = 20 N/mm?
F, = 400 N/mm’

h= fLlo/140 = 2(6700115700) S177 mm s calis il

Use 180 mm

S 8 Sl Al

Jis 0js = 0.18 x 24 = 4.32 kN/m*
e e, b =1.25(432+1.5)=73
S s ey b = 1.5 (4.8) =7.2
Wu=7.3+7.2=14.5 kN/m’

S S5 53 b Slglan e

m=L,/Ly=5.7/6.7=0.85

J‘)M”U)AWQLM

0.066 +0.072
"\
o S wlas slazel 5> M7= 0.069 x 14.5 5.7 =32.5 kN .m/m
Al 6las sl 55 M= 0.04 x 14.5 x 6.7 =26 kN.m/m

0.034+0.046
2

alas .]a..‘})JC.A.:i'.Af_)Lo.A

ol 58" wlas slzel ys (1

(03,05 30)M* =0.036 x7.3x5.7°=85 kN.m/m
(03,5 s26) MT=0.043 x 7.2 x 5.7 = 10.1 kN.m /m
(03,0 03l 2HOM + M*=8.5+10.1 = 18.6 kN.m /m
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Al wlas sluzal s (i
(o35 ,b 31 L56)MT=0.019x7.3x6.7°=62 kN.m/m
(03,0 5431 LM =0.023x 7.2 x 6.7° = 7.4 kN.m/m
13.6

(6las Loy Coin Olos 3/4) a5 e sl 4 5 e Oles
(ol S wlas slul ;3 )M =3/4 18.6 =14 kN.m/m
(ad slas slal ,3)M =3/4 x 13.6 = 10.2 kKN.m/m
3 Sha b
4 : —— - - —
Id,:I -I:da' Id;

o e s i

d,’=180-20-5 =155 mm
dy"=180-5-10-20 = 145 mm

s Cwldes Jj—f
AL e 5L 6)lad SV B 4 &S 550 ST el Y
_06Bf.  (600)

METf (600 + 1))
0.6x0.85%20 (600)
- =0.0153
Puuax 400 (600 + 400)

Asmax = Pmax bd =0.0453 x 1000 x 155 = 2372 mm’

0.85 (0.6 x20) 1000 a =2372(0.85x400) = a =79 mm
MU max = 2372 ( 0.85 x 400 ) ( 155 —79/2) x 10

MU mac=93.1  kN.m /m

Ll g (65128 5 Ko 4 (63 M € Bl o 5 g g (Slgiles L3 1B 5 B Oles

S ols Jola= SN g

Asyin= 0.0018 x1000 x180 = 324 mm*/m

(d =155 ) el S wlas ;5 p3¥ 5Y 5 (Ll

A =08 e bd)y My A =3001— 1-1261My
’ £, 0.85f,. bd’ ’ d?

fusmad —» My=325 Ag=664 mm/m -> Py @ 10cm cle
oy bad —p My= 14 As=274 mm¥m x Ag=324  ®;, @20 cm clc
—» M'y=118.6 Ag=2368 mm*/m  x Ag=324 dp @20 cm clc




hy ls e Ja2

(d=145) SURPHESBIYS) Y P Qe
My=325 Ag=664 mm’/m -> ®,y @ 10cm cle
M:_]: 10.2 Ag =212 mm?/m xAg=324 *» o, @ 12 cmc/c
M*=13.6 As=285 mm’/m xAs=324 » &, @12 cmclc

‘_;Jl;f‘_gu)l)sja(aj\(:\béd}_m

sl S Sl 52350 mm b 3h Aol STas L Sle g bas She dhols 1 15 s Kle bl

u,?@\.lfﬂ}é

. 6700/5=1340
7 ®10@ 20 cm c/c

140

T

290
140

IR IGVE T

[N I —— .

sl 340 1165

Frd S

Js wlg JS L =145(67x57)=553.8 kN

obsS S 5 1M ligy 4 JIs 51 (6515 sl o8 2 S5,
V=O'—66><553.8><L =27.3 kN/m
2 6.7
Al g a6

Vv :MXSSB.SXL =16.5 kN/m
2 5.7

Ve=0.2 dpVfebd =0.2 x 0.6 V20 x 1000 (155 ) x 107 =83.2 >27.3

Al a3 (5B SV
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= 2
n.ma =G g W1, e aslg g 5318 o8] + 0850 Slaify 3k =
b.neg = Gamg W |j

eed | Cased |Case2 |Case3 |Cased |Case5 |Case6 |Case7 |Case8 [Case 9
m= :f | | ) Lo )
1 0 Ceos 0.045 0.045 | 0.075 | 0.071 0.033 | 0.061
06, 0.045 | 0.076 | 0.045 0.071 | 0.061 | 0.033
Cy neg 0.050 0.055 | 0.078 | 0.075 0.038 | 0.085
085¢ 0.041 | 0072 | 0.045 0.067 | 0.056 | 0.029
o 0.055 0.060 | 0.080 | 0.079 0.043 | 0.068
090¢, o 0.037 | 0.070 | 0.040 0.062 | 0.052 | 0.025
Co e 0.060 0.066 | 0.082 | 0.083 0.049 | 0.072
R . 0.031 | 0.065 | 0.034 0.057 | 0.046 | 0.021
Ca. neg 0.065 0.071 | 0,083 | 0.086 0.055 | 0.075
080¢ 0.027 | 0.061 | 0.029 0.051 | 0.041 | 0.017
Ca. neg 0.069 0.076 | 0.085 | 0.088 0.061 | 0.078
0T3¢ 0.022 | 0.056 | 0.024 0.044 | 0.036 | 0.014
Ca oo 0.074 0.081 | 0.086 | 0.091 0.068 | 0.081
010¢, 0.017 | 0.050 | 0.019 0.038 | 0.029 | 0.011
Ca. neg 0.077 0.085 | 0.087 | 0.093 0.074 | 0.083
R 0.014 | 0.043 | 0.015 0.031 | 0.024 | 0.008
Ca. neg 0.081 0.089 | 0.088 | 0.095 0.080 | 0.085
080¢ 0.010 | 0.035 | 0.011 0.024 | 0.018 | 0.006
Co. oo 0.084 0.092 | 0.089 | 0.096 0.085 | 0.086
05%¢. 0.007 | 0.028 | 0.008 0.019 | 0.014 | 0.005
Ca s 0.086 0.094 | 0.090 | 0.097 0.089 | 0.088
080¢" 0.006 | 0.022 | 0.006 0.014 | 0.010 | 0.003
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a

z
b

Foye dgae

038 3 Sl cain K calyd Jgue

gas usly g 83l 6858 cSlaify b= \y

gl

Case 2

Case 3

Case 4

Case 5

Case B

Case ¥

Case 8

Case 9

C

i, nisg
1.00 C

b, reg

0.036
0.036

0.018
0.018

0.018
0.027

0.027
0.027

0.027
0.018

0.033
0.027

0.027
0.033

0.020
0.023

0.023
0.020

C

0.95 ™"
Co reg

0.040
0.033

0.020
0.016

0.021
0.025

0.030
0.024

0.028
0.015

0.036
0.024

0.031
0.031

0.022
0.021

0.024
0.017

Gy neg
0.90 c

b, rag

0.045
0.029

0.022
0.014

0.025
0.024

0.033
0.022

0.029
0.013

0.039
0.021

0.035
0.028

0.025
0.019

0.026
0.015

C
085

2, neg
b, eg

0.050
0.026

0.024
0.012

0.029
0.022

0.036
0.019

0.031
0.011

0.042
0.017

0.040
0.025

0.029
0.017

0.028
0.013

C
0.80 "™
b. neg

0.056
0.023

0.026
0.011

0.034
0.020

0.039
0.016

0.032
0.009

0.045
0.015

0.045
0.022

0.032
0.015

0.029
0.010

C
0.75 ™
Cy. rog

0.061
0.019

0.028
0.009

0.040
0.018

0.043
0.013

0.033
0.007

0.048
0.012

0.051
0.020

0.036
0.013

0.031
0.007

umg”ﬂ

b, meg

0.068
0.016

0.030
0.007

0.046
0.016

0.046
0.011

0.035
0.005

0.051
0.009

0.058
0.017

0.040
0.01

0.033
0.006

C
0.65 c“' ned
b, neg

0.074
0.013

0.032
0.006

0.054
0.014

0.050
0.009

0.036
0.004

0.054
0.007

0.065
0.014

0.044
0.009

0.034
0.005

GB. negq
060

b, meg

0.081
0.010

0.034
0.004

0.062
0.011

0.053
0.007

0.037
0.003

0.056
0.006

0.073
0.012

0.048
0.007

0.036
0.004

C
0.55 E' el

b, reg

0.088
0.008

0.035
0.003

0.071
0.009

0.056
0.005

0.038
0.002

0.058
0.004

0.081
0.008

0.052
0.005

0.037
0.003

Ce. neg
0.50 C

b. neg|

0.095
0.006

0.037
0.002

0.080
0.007

0.059
0.004

0.039
0.001

0.061
0.003

0.089
0.007

0.056
0.004

0.038
0.002
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Case 2

Casa 3

Case 4 | Caze 5

Case 6

Case T

Case B | Case 9

.

L

0.027
0.027

0.027
0.032

0.032
0.032

0.032
0.027

0.035
0.032

0.032
0.035

0.028
0.030

0.030
0.028

0.030
0.025

0.031
0.029

0.035
0.029

0.034
0.024

0.038
0.029

0.036
0.032

0.031
0.027

0.032
0.025

0.034
0.022

0.035
0.027

0.039
0.026

0.037
0.021

0.042
0.025

0.040
0.029

0.035
0.024

0.036
0.022

0.037
0.019

0.040
0.024

0.043
0.023

0.041
0.019

0.046
0.022

0.045
0.026

0.040
0.022

0.039
0.020

0.041
0.017

0.045
0.022

0.048
0.020

0.044
0.016

0.051
0.019

0.051
0.023

0.044

. 0.042
0.019

0.017

0.045
0.014

0.051
0.019

0.052
0.016

0.047
0.013

0.055
0.016

0.056
0.020

0.049
0.016

0.046
0.013

0.049
0.012

0.057
0.016

0.057
0.014

0.031
0.011

0.060
0.013

0.063
0.017

0.054
0.014

0.050
0.011

0.053
0.010

0.064
0.014

0.062
0.011

0.055
0.009

0.064
0.010

0.070
0.014

0.059
0.011

0.054
0.009

0.058
0.007

0.071
0.01

0.067
0.009

0.058
0.007

0.068
0.008

0.077
0.011

0.065
0.009

0.059
0.007

0.062
0.006

0.080
0.008

0.072
0.007

0.063
0.005

0.073
0.006

0.085
0.009

0.070
0.007

0.063
0.006

0.066
0.004

0.088
0.007

0.077
0.005

0.067
0.004

0.078
0.005

0.092
0.007

0.076
0.005

0.067
0.004
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B bl 59) sk
el |Case1 |Case?2 |Case3 |Cased |Case5 |Case6 |Case7 |Case8 |Case9
=:f L] L] L e
oo Cores 050 | 0.50 | 017 050 | 083 | 071 | 029 | 033 | 067
00¢, o 050 050 | 083 | 050 [017 [029 |071 |067 |033
C,. 055 |055 | 020 [055 |08 |075 033 |038 |071
0.95 > "
€, o 045 045 | 080 | 045 |014 |025 | 067 | 062 |0.29
Cyng 060 | 060 | 023 [060 |088 |079 [038 |043 | 075
‘19’”(:,“'“‘9!J 040 |040 | 077 |040 |012 | 021 | 062 | 057 | 025
Cooog 066 | 066 | 028 [066 |080 |083 |043 |048 [079
085¢, ] 034 034 | 072 | 034 |00 [047 |057 | 051 | 021
C,. 071 |071 | 033 [071 |092 |08 |049 | 055 |083
0.80 "¢
Cong 029 |029 | 067 |029 |008 |014 | 051 |045 |07
C,. 076 | 076 | 039 |076 |094 |088 | 056 |061 |086
0.75 > ™8
Coog 024 | 024 | 061 | 024 [006 | 012 |044 |039 |0.14
Cong 081 | 0.81 | 045 [081 |095 |081 |062 | 068 | 0.89
070¢ 1019 019 | 055 | 019 |005 |009 |038 |0.32 |O0.11
Cons 085 | 085 | 053 (085 |096 [093 |069 |074 [092
085, 1 015 045 | 047 | 045 | 004 |007 [031 |026 |0.08
Cong 089 | 089 | 061 (089 |097 [095 |076 |080 [0.94
080¢ wl 011 [ 011 [039 | 011 003 |005 024 | 020 |00
Cong 092 | 092 | 069 092 (098 |09 |081 |085 | 095
095¢ 1008 |008 |031 |008 |0.02 |004 |0.19 |0.15 |0.05
Cooo 094 | 094 | 076 [094 |099 [097 |086 |089 [097
080, . 006 006 | 024 |006 |001 |003 [014 |011 |0.03

ol 52U e Caaglin b ol o8 4G oyl o3l ot 5 13,8 L at gy ad ok led  sile Coadle K
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G (Pl ey ST 5 e 0S5 (sl Y B slan T e plade elane

mm

30

0.94

3.14

10

491

12

1131

3.08

7.07

5.14

4.71

14

15.39

10.99

9.60

7.00

6.41

16

20.10

14.36

12.56

9.14

8.37

31:81

23:13

18.18

1391

11.57

10.60

39.27

31.42

26.13

19.64

14.28

13.09

47.51

38.01

31.67

23.76 | 2

17.28

15.84

56.33

45.24

37.70

5201

20.56

18.85

41.0

35.1

3
[
(7%

44.25

37.90

35.40

29.50

24.15

L
—
()
2

43.99

41.05

38.45

34.21

30.79

27.99

21.99

58.91

50.49

47.13

44.18

30.27

35.34

52.13

23.56
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